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5,000

19 (2007 ) 15 19 (2007 ) 30
a ©=(=)-(M) d e M=(D-¢) | @D=(D/(@ M)=(F)/()
5,000 53 4,947 1,778 4 1,774 35.5% 35.9%
100.0
100.0
MA Multiple Answer




95

+= X < >
327,582 1,774
+ x <~ —
- 95
) 5 10 15 20 25 30 35 40 45 50
n 95 90 85 80 75 70 65 60 55 50
1,774 1.5 2.0 2.4 2.7 2.9 3.1 3.2 3.3 3.3 3.4
719 .2 4. 4. 4.8 5. .3
1,006 7 3. 3. 4.1 4. .5
16 19 55 8.3| 11.4| 13.6| 15.3| 16.5| 17.5| 18.2| 18.7| 19.0| 19.1
20 150 5.0 6.9 8.2 9.2 | 10.0| 10.6| 11.0| 11.3| 11.5| 11.5
30 302 3.5 4.9 5.8 6.5 7.0 7.5 7.8 8.0 8.1 8.1
40 320 3.4 4.7 5.6 6.3 6.8 7.2 7.5 7.7 7.9 7.9
50 297 3.6 4.9 5.9 6.6 7.1 7.5 7.8 8.0 8.2 8.2
60 327 3.4 4.7 5.6 6.3 6.8 7.2 7.5 7.7 7.8 7.8
70 288 3.6 5.0 6.0 6.7 7.2 7.6 7.9 8.2 8.3 8.3
19
89.1 89.1
10 90 2.0
89.1 2.0 91.1 87.1
95 100 95












